

CONCORD-ASHLAND-CAMPTON

41706

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN: SCOPE OF WORK: COMPLETION DATE: LOCATION:	CONCORD-ASHLAND-CAMPTON 41706 X-A004(719) October 08, 2020, 2:00 Painting I-93 bridges in Concord, Ashland, and Campton December 17, 2021 Grafton, Merrimack	Awarded To: Amount: Award Date:	MODERN PROTECTIVE COATINGS INC PO BOX 119 HUDSON, NH 03051-0119 \$1,589,300.00	PETER.E.STAMNAS Director of Project Development	
	S	Summary of Bidders			
Contractor				Bid Amount	Rank
MODERN PROTECTIV PO BOX 119, HUD	/E COATINGS INC SON NH 03051-0119			\$1,589,300.00	A
ATSALIS BROTHERS 24595 GROESBEC	PAINTING CO INC K HWY, WARREN MI 48089			\$1,720,710.00	В
SOUTHERN ROAD & 715 WESLEY AVE	BRIDGE LLC NUE, TARPON SPRINGS FL 34689-6711			\$1,752,500.00	С
MONOKO, LLC 760 BAYSHORE D	RIVE, TARPON SPRINGS FL 34689			\$1,819,000.00	D
OLYMPUS PAINTING 556 ANCLOTE RO	CONTRACTORS INC AD, TARPON SPRINGS FL 34689			\$1,916,852.00	E
ATLAS PAINTING & S 465 CREEKSIDE D	HEETING CORP RIVE, AMHERST NY 14228			\$1,939,000.00	F
GEMSTONE PAINTIN SUITE 406, 1010 K	G ENNEDY DRIVE, KEY WEST FL 33040-4019			\$2,054,000.00	G
ABHE & SVOBODA, IN 18100 DAIRY LANE	NC. E, JORDAN MN 55352			\$2,746,830.00	Н



CONCORD-ASHLAND-CAMPTON

41706

X-A004(719)

				F	PS&E	POE	CTIVE COATINGS INC 30X 119 NH 03051-0119	24595 GRC	RS PAINTING CO INC IESBECK HWY N, MI 48089
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

556.01	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$499,100.00	\$499,100.00	\$480,000.00	\$480,000.00	\$342,550.00	\$342,550.00
556.04	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$281,400.00	\$281,400.00	\$300,000.00	\$300,000.00	\$256,960.00	\$256,960.00
556.05	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$214,200.00	\$214,200.00	\$220,000.00	\$220,000.00	\$257,000.00	\$257,000.00
556.06	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$182,700.00	\$182,700.00	\$200,000.00	\$200,000.00	\$250,000.00	\$250,000.00
556.901	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$15,000.00	\$15,000.00
556.904	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$15,000.00	\$15,000.00
556.905	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$15,000.00	\$15,000.00
556.906	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$15,000.00	\$15,000.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	1,000.00	\$27.00	\$27,000.00	\$20.00	\$20,000.00	\$10.00	\$10,000.00
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	600.00	\$75.00	\$45,000.00	\$40.00	\$24,000.00	\$10.00	\$6,000.00
606.9522	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	2.00	\$3,000.00	\$6,000.00	\$2,500.00	\$5,000.00	\$6,800.00	\$13,600.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$6,500.00	\$13,000.00	\$3,000.00	\$6,000.00	\$7,500.00	\$15,000.00
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$12,000.00	\$12,000.00	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	156,000.00	\$1.00	\$156,000.00	\$1.00	\$156,000.00	\$1.00	\$156,000.00
618.7	FLAGGERS	HR	200.00	\$40.00	\$8,000.00	\$10.00	\$2,000.00	\$75.00	\$15,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$75,000.00	\$75,000.00	\$50,000.00	\$50,000.00	\$80,000.00	\$80,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	6.00	\$5,000.00	\$30,000.00	\$1,250.00	\$7,500.00	\$600.00	\$3,600.00
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	6.00	\$6,000.00	\$36,000.00	\$300.00	\$1,800.00	\$400.00	\$2,400.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	6.00	\$8,000.00	\$48,000.00	\$1,200.00	\$7,200.00	\$600.00	\$3,600.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	6.00	\$10,000.00	\$60,000.00	\$300.00	\$1,800.00	\$8,000.00	\$48,000.00
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	2,000.00	\$1.00	\$2,000.00	\$2.00	\$4,000.00	\$3.00	\$6,000.00
632.1106	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 6" LINE	LF	4,000.00	\$5.00	\$20,000.00	\$2.00	\$8,000.00	\$4.00	\$16,000.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	2,000.00	\$1.25	\$2,500.00	\$2.00	\$4,000.00	\$6.00	\$12,000.00
670.104	TEMPORARY PORTABLE LIGHTING	U	8.00	\$10,000.00	\$80,000.00	\$1,000.00	\$8,000.00	\$2,000.00	\$16,000.00



CONCORD-ASHLAND-CAMPTON

41706

				PS&E		PO BOX 119 HUDSON, NH 03051-0119		PO BOX 119 24595 GRO		ERS PAINTING CO INC DESBECK HWY EN, MI 48089
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
692.	MOBILIZATION	U	1.00	\$120,000.00	\$120,000.00	\$30,000.00	\$30,000.00	\$96,000.00	\$96,000.00	
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	
			Totals:		\$1,969,900.00		\$1,589,300.00		\$1,720,710.00	
			Alt. Totals:							
			Totals:	\$1,969,900.00		\$1,589,300.00		\$1,720,710		





CONCORD-ASHLAND-CAMPTON

41706

X-A004(719)

				F	≥S&E	715 WES	AD & BRIDGE LLC LEY AVENUE IGS, FL 34689-6711	760 BAYS	DKO, LLC HORE DRIVE RINGS, FL 34689
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

670.104	TEMPORARY PORTABLE LIGHTING	U	8.00	\$10,000.00	\$80,000.00	\$2,000.00	\$16,000.00	\$200.00	\$1,600.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	2,000.00	\$1.25	\$2,500.00	\$0.10	\$200.00	\$2.00	\$4,000.00
632.1106	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 6" LINE	LF	4,000.00	\$5.00	\$20,000.00	\$0.10	\$400.00	\$1.50	\$6,000.00
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	2,000.00	\$1.00	\$2,000.00	\$0.10	\$200.00	\$1.50	\$3,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	6.00	\$10,000.00	\$60,000.00	\$100.00	\$600.00	\$200.00	\$1,200.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	6.00	\$8,000.00	\$48,000.00	\$100.00	\$600.00	\$200.00	\$1,200.00
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	6.00	\$6,000.00	\$36,000.00	\$100.00	\$600.00	\$200.00	\$1,200.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	6.00	\$5,000.00	\$30,000.00	\$100.00	\$600.00	\$200.00	\$1,200.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$75,000.00	\$75,000.00	\$200,000.00	\$200,000.00	\$50,000.00	\$50,000.00
618.7	FLAGGERS	HR	200.00	\$40.00	\$8,000.00	\$1.00	\$200.00	\$10.00	\$2,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	156,000.00	\$1.00	\$156,000.00	\$1.00	\$156,000.00	\$1.00	\$156,000.00
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$12,000.00	\$12,000.00	\$100.00	\$100.00	\$13,600.00	\$13,600.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$6,500.00	\$13,000.00	\$100.00	\$200.00	\$1,000.00	\$2,000.00
606.9522	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	2.00	\$3,000.00	\$6,000.00	\$100.00	\$200.00	\$1,000.00	\$2,000.00
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	600.00	\$75.00	\$45,000.00	\$1.00	\$600.00	\$10.00	\$6,000.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	1,000.00	\$27.00	\$27,000.00	\$1.00	\$1,000.00	\$10.00	\$10,000.00
556.906	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00
556.905	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00
556.904	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00
556.901	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00
556.06	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$182,700.00	\$182,700.00	\$208,000.00	\$208,000.00	\$283,000.00	\$283,000.00
556.05	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$214,200.00	\$214,200.00	\$200,000.00	\$200,000.00	\$283,000.00	\$283,000.00
556.04	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$281,400.00	\$281,400.00	\$242,000.00	\$242,000.00	\$283,000.00	\$283,000.00
556.01	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$499,100.00	\$499,100.00	\$450,000.00	\$450,000.00	\$565,000.00	\$565,000.00



CONCORD-ASHLAND-CAMPTON

41706

				PS&E		PS&E SOUTHERN ROAD & BRIDGE LLC 715 WESLEY AVENUE TARPON SPRINGS, FL 34689-6711		715 WESLEY AVE		760 BAYSHORE DRIVE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total		
692.	MOBILIZATION	U	1.00	\$120,000.00	\$120,000.00	\$200,000.00	\$200,000.00	\$100,000.00	\$100,000.00		
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00		
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00		
			Totals:		\$1,969,900.00		\$1,752,500.00		\$1,819,000.00		
			Alt. Totals:								
			Totals:	\$1,969,900.00		\$1,752,500.00		00 \$1,819,00			



CONCORD-ASHLAND-CAMPTON

41706

X-A004(719)

				F	°S&E	556 ANC	G CONTRACTORS INC LOTE ROAD RINGS, FL 34689	465 CREE	& SHEETING CORP KSIDE DRIVE T, NY 14228
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

		-			-			-	
556.01	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$499,100.00	\$499,100.00	\$530,000.00	\$530,000.00	\$400,000.00	\$400,000.00
556.04	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$281,400.00	\$281,400.00	\$365,000.00	\$365,000.00	\$500,000.00	\$500,000.00
556.05	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$214,200.00	\$214,200.00	\$263,000.00	\$263,000.00	\$300,000.00	\$300,000.00
556.06	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$182,700.00	\$182,700.00	\$263,000.00	\$263,000.00	\$300,000.00	\$300,000.00
556.901	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$6,500.00	\$6,500.00	\$1,000.00	\$1,000.00
556.904	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$6,500.00	\$6,500.00	\$1,000.00	\$1,000.00
556.905	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00
556.906	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	1,000.00	\$27.00	\$27,000.00	\$30.00	\$30,000.00	\$10.00	\$10,000.00
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	600.00	\$75.00	\$45,000.00	\$30.00	\$18,000.00	\$10.00	\$6,000.00
606.9522	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	2.00	\$3,000.00	\$6,000.00	\$3,000.00	\$6,000.00	\$500.00	\$1,000.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$6,500.00	\$13,000.00	\$3,036.00	\$6,072.00	\$500.00	\$1,000.00
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$12,000.00	\$12,000.00	\$3,500.00	\$3,500.00	\$1,000.00	\$1,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	156,000.00	\$1.00	\$156,000.00	\$1.00	\$156,000.00	\$1.00	\$156,000.00
618.7	FLAGGERS	HR	200.00	\$40.00	\$8,000.00	\$15.00	\$3,000.00	\$10.00	\$2,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$100,000.00	\$100,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	6.00	\$5,000.00	\$30,000.00	\$900.00	\$5,400.00	\$100.00	\$600.00
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	6.00	\$6,000.00	\$36,000.00	\$540.00	\$3,240.00	\$10.00	\$60.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	6.00	\$8,000.00	\$48,000.00	\$720.00	\$4,320.00	\$10.00	\$60.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	6.00	\$10,000.00	\$60,000.00	\$4,200.00	\$25,200.00	\$1.00	\$6.00
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	2,000.00	\$1.00	\$2,000.00	\$0.56	\$1,120.00	\$1.00	\$2,000.00
632.1106	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 6" LINE	LF	4,000.00	\$5.00	\$20,000.00	\$1.75	\$7,000.00	\$1.00	\$4,000.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	2,000.00	\$1.25	\$2,500.00	\$4.50	\$9,000.00	\$1.00	\$2,000.00
670.104	TEMPORARY PORTABLE LIGHTING	U	8.00	\$10,000.00	\$80,000.00	\$1,500.00	\$12,000.00	\$100.00	\$800.00



CONCORD-ASHLAND-CAMPTON

41706

				PS&E		55E ANCLOTE ROAD TARPON SPRINGS, FL 34689		556 ANCLOTE ROAD 465 CRE		465 CREE	3 & SHEETING CORP EKSIDE DRIVE ST, NY 14228
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total		
692.	MOBILIZATION	U	1.00	\$120,000.00	\$120,000.00	\$70,000.00	\$70,000.00	\$108,474.00	\$108,474.00		
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00		
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00		
			Totals:		\$1,969,900.00		\$1,916,852.00		\$1,939,000.00		
			Alt. Totals:								
			Totals:	\$1,969,900.00		\$1,916,852.00		90 \$1,939,000			



CONCORD-ASHLAND-CAMPTON

41706

X-A004(719)

				F	PS&E	SU	NE PAINTING ITE 406 FL 33040-4019	18100 D.	VOBODA, INC. AIRY LANE N, MN 55352
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

556.01	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$499,100.00	\$499,100.00	\$560,000.00	\$560,000.00	\$667,720.00	\$667,720.00
556.04	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$281,400.00	\$281,400.00	\$380,000.00	\$380,000.00	\$466,330.00	\$466,330.00
556.05	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$214,200.00	\$214,200.00	\$310,000.00	\$310,000.00	\$400,940.00	\$400,940.00
556.06	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$182,700.00	\$182,700.00	\$310,000.00	\$310,000.00	\$380,260.00	\$380,260.00
556.901	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$1,100.00	\$1,100.00
556.904	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$1,100.00	\$1,100.00
556.905	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$1,100.00	\$1,100.00
556.906	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$1,100.00	\$1,100.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	1,000.00	\$27.00	\$27,000.00	\$25.00	\$25,000.00	\$33.00	\$33,000.00
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	600.00	\$75.00	\$45,000.00	\$25.00	\$15,000.00	\$33.00	\$19,800.00
606.9522	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	2.00	\$3,000.00	\$6,000.00	\$4,000.00	\$8,000.00	\$9,775.00	\$19,550.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$6,500.00	\$13,000.00	\$4,000.00	\$8,000.00	\$9,775.00	\$19,550.00
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$12,000.00	\$12,000.00	\$30,000.00	\$30,000.00	\$46,070.00	\$46,070.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	156,000.00	\$1.00	\$156,000.00	\$1.00	\$156,000.00	\$1.00	\$156,000.00
618.7	FLAGGERS	HR	200.00	\$40.00	\$8,000.00	\$20.00	\$4,000.00	\$55.05	\$11,010.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$75,000.00	\$75,000.00	\$30,000.00	\$30,000.00	\$160,650.00	\$160,650.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	6.00	\$5,000.00	\$30,000.00	\$2,000.00	\$12,000.00	\$840.00	\$5,040.00
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	6.00	\$6,000.00	\$36,000.00	\$1,000.00	\$6,000.00	\$420.00	\$2,520.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	6.00	\$8,000.00	\$48,000.00	\$2,000.00	\$12,000.00	\$750.00	\$4,500.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	6.00	\$10,000.00	\$60,000.00	\$4,000.00	\$24,000.00	\$3,770.00	\$22,620.00
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	2,000.00	\$1.00	\$2,000.00	\$6.00	\$12,000.00	\$2.60	\$5,200.00
632.1106	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 6" LINE	LF	4,000.00	\$5.00	\$20,000.00	\$6.00	\$24,000.00	\$4.00	\$16,000.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	2,000.00	\$1.25	\$2,500.00	\$6.00	\$12,000.00	\$4.60	\$9,200.00
670.104	TEMPORARY PORTABLE LIGHTING	U	8.00	\$10,000.00	\$80,000.00	\$2,000.00	\$16,000.00	\$110.00	\$880.00



CONCORD-ASHLAND-CAMPTON

41706

				PS&E		GEMSTONE PAINTING SUITE 406 KEY WEST, FL 33040-4019		ABHE & SVOBODA, INC. 18100 DAIRY LANE JORDAN, MN 55352	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
692.	MOBILIZATION	U	1.00	\$120,000.00	\$120,000.00	\$40,000.00	\$40,000.00	\$255,590.00	\$255,590.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
	Totals:			\$1,969,900.00		\$2,054,000.00		\$2,746,830.00	
	Alt. Totals:								
			Totals:		\$1,969,900.00	\$2,054,000.00		\$2,746,830.00	



				A-Bide	der	PS8	ε	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
556.01	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$480,000.00	\$480,000.00	\$499,100.00	\$499,100.00	(\$19,100.00)
556.04	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$300,000.00	\$300,000.00	\$281,400.00	\$281,400.00	\$18,600.00
556.05	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$220,000.00	\$220,000.00	\$214,200.00	\$214,200.00	\$5,800.00
556.06	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$200,000.00	\$200,000.00	\$182,700.00	\$182,700.00	\$17,300.00
556.901	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	(\$2,000.00)
556.904	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	(\$2,000.00)
556.905	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	(\$2,000.00)
556.906	PRE-EXISTING PAINT CHIP CLEANUP	U	1.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	(\$2,000.00)
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	1,000.00	\$20.00	\$20,000.00	\$27.00	\$27,000.00	(\$7,000.00)
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	600.00	\$40.00	\$24,000.00	\$75.00	\$45,000.00	(\$21,000.00)
606.9522	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	2.00	\$2,500.00	\$5,000.00	\$3,000.00	\$6,000.00	(\$1,000.00)
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$3,000.00	\$6,000.00	\$6,500.00	\$13,000.00	(\$7,000.00)
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00	(\$2,000.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	156,000.00	\$1.00	\$156,000.00	\$1.00	\$156,000.00	\$0.00



CONCORD-ASHLAND-CAMPTON

41706

X-A004(719)

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
618.7	FLAGGERS	HR	200.00	\$10.00	\$2,000.00	\$40.00	\$8,000.00	(\$6,000.00)
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$50,000.00	\$50,000.00	\$75,000.00	\$75,000.00	(\$25,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	6.00	\$1,250.00	\$7,500.00	\$5,000.00	\$30,000.00	(\$22,500.00)
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	6.00	\$300.00	\$1,800.00	\$6,000.00	\$36,000.00	(\$34,200.00)
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	6.00	\$1,200.00	\$7,200.00	\$8,000.00	\$48,000.00	(\$40,800.00)
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	6.00	\$300.00	\$1,800.00	\$10,000.00	\$60,000.00	(\$58,200.00)
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	2,000.00	\$2.00	\$4,000.00	\$1.00	\$2,000.00	\$2,000.00
632.1106	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 6" LINE	LF	4,000.00	\$2.00	\$8,000.00	\$5.00	\$20,000.00	(\$12,000.00)
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	2,000.00	\$2.00	\$4,000.00	\$1.25	\$2,500.00	\$1,500.00
670.104	TEMPORARY PORTABLE LIGHTING	U	8.00	\$1,000.00	\$8,000.00	\$10,000.00	\$80,000.00	(\$72,000.00)
692.	MOBILIZATION	U	1.00	\$30,000.00	\$30,000.00	\$120,000.00	\$120,000.00	(\$90,000.00)
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00

Total:

\$1,589,300.00

(\$380,600.00)

\$1,969,900.00